Leistungsberechnung

Mo — Fr

Sa

Jahresleistung

Mb

Mb

Mb

Variante 1

{30 Min-Takt in der HVZ)

485,919 km x 250 Tage =

121.479,750 km/Jahr

199,689 km x 250 Tage =
49.922,250 km/Jahr

185,122 km x 52 Tage =
9.625,824 km/Jahr

76,072 km x 52 Tage =
3.955,744 km/Jahr

131.105,570 km

53.877,990 km

Anlage 2

Variante 2

(20 Min-Takt in der HVZ)

647,892 km x 250 Tage =

161.973,000 km/Jahr

266,252 km x 250 Tage =
66.563,000 km/Jahr

185,122 km x 52 Tage =
9.625,824 km/Jahr

76,072 km x 52 Tage =
3.955,744 km/Jahr

171.598,820 km

70.518,740 km



